CONSENT AGENDA

CITY OF SAN ANTONIO PUBLIC WORKS DEPARTMENT CITY COUNCIL AGENDA MEMORANDUM

TO:

Mayor and City Council

FROM:

Thomas G. Wendorf, P.E., Director of Public Works

SUBJECT:

2005 Street Maintenance Program – Asphalt Recycling and Overlay Project

DATE:

October 6, 2005

SUMMARY AND RECOMMENDATIONS

This ordinance approves Field Alteration Number 1 in the amount of \$41,140 funded from the project construction contingency, payable to San Antonio Constructors, Ltd. in connection with the 2005 Street Maintenance Program - Asphalt Recycling and Overlay Project, located throughout various Council Districts.

Staff recommends approval of this Ordinance.

BACKGROUND INFORMATION

The project provides for the utilization of an asphalt recycling and overlay maintenance treatment for the repair of various streets throughout the City. This type of application is necessary when street conditions include numerous potholes and cracks, heaving and rough surfaces, and wear and tear from heavy truck or bus traffic. The streets receiving this application were identified in coordination with each affected Council District and include approximately 17.324 miles of city streets.

This ordinance authorizes Field Alteration Number 1, in the amount of \$41,140, for striping and street markings needed on the Harry Wurzbach-Evers to Newcome, North Ellison-Potranco to Military Drive, and Harry Wurzbach-Rittiman to Austin Highway projects. Striping and street markings for these streets were inadvertently excluded on the original contract. A copy of Field Alteration Number 1 is incorporated herein as Attachment 2.

A previously executed contract with San Antonio Constructors, Ltd for the Asphalt Recycling and Overlay Contract in an amount not to exceed \$799,999.50 was approved by City Council on April 21, 2005, through Ordinance No. 100745. This field alteration increases the contract amount to \$841,139.50.

POLICY ANALYSIS

Approval of this ordinance will be a continuation of City Council policy to maintain and improve the City's existing infrastructure.

FISCAL IMPACT

This is a one-time capital improvement expenditure. Funds in the amount of \$41,140 are available from the project construction contingency and are authorized payable to San Antonio Constructors, Ltd. This item will not impact the FY05-06 Street Operating Maintenance Budget.

COORDINATION

This request for ordinance has been coordinated with the Office of Management and Budget and the Finance Department.

SUPPLEMENTARY COMMENTS

A Discretionary Contracts Disclosure Form is not required.

ATTACHMENTS

1. Field Alteration Number

Thomas G. Wendorf, P.E.

Director of Public Works

Melissa Byrne Vossmer

Assistant City Manager

J. Rolando Bono

City Manager



CITY OF SAN ANTONIO PUBLIC WORKS DEPARTMENT FIELD ALTERATION REQUEST

Form PW-15 Rev. 7/2005 (Submit 2 Originals)

ate Prepared: July 19, 2005 Fie	ld Alteration No1	1 Project No. 23-00007
oject Name: 2005 SMP - Asphalt Recycling and C	Overlay - 2005	
oject Name as shown on the Work Project Authorization) e revision or amendment described below is to the work ork deleted, including SAP Material number. Attach a revised p tipping of three projects in the Asphalt Recycling and tem 535.A - 4" Wide Yellow Line - 8,600 LF @ \$1.65/LF tem 535.B - 4" Wide White Line - 13,000 LF @ \$1.65/LF tem 535.F - 16" Wide White Line - 500 LF @ \$8.00/LF =	or name and the contract. = \$14,190.00	ified is hereby requested, including all changes in costs. (Describe work to be added swings.) em 535.G - 24" Wide White Line - 150 LF @ \$10.00/LF = \$1,500.00 All Items are Hot Applied Thermal Plastic Pavement Markings.
stification for Proposed Alteration (Describe in detail why thems were not included in original bid documents		deleted. Use attachments if necessary.):
old Alteration will result in change to Contract Cost as:	[X] increase	[] Decrease \$ 41,140.00
old Alteration will result in change to Contract Days as: to be negotiated by the Contractor and the City.)	[X] Increase [] Working Days	[] Decrease # Days 5 [X] Calendar Days
EQUESTED BY:		Colde of hum 9/8/05
onsulting Engineer/ Architect, Other (Please Specify)	Date	Contractor Title: SUFFE NTTNORNT Firm: SAN ANTONIO CONSTRUCTORS, LTD.
MOT APPLICABLE mando "Rocky" A. Aranda, Street Operations Manager PPROVED BY: L B Cluation, F. eopoido P. Cervantes, P.E.	Date Date	Razi S. Hosseini, P.E., Asst. My Engineer Date Thomas G. Wendorf, P.E. (If over \$25,000)
cting City Engineer		TY USE ONLY WB 23-00007-02-02
Ordinance Required: N. Yes [] No WBS Element: 23-60007 Original Contract Amount: 799,990 Previous Approved FAs: 5 This Field Alteration: \$41,140 Total: \$841,130	-05-01 7.50 0.00 9.50	# \$25,000 (+ or -)
Purchase Requisition #	Contract #	Purchase Order #
이 그 사람들이 불쾌했다. 이번 1약을 하세요. 그 100% 그 그로 하다는 데이 중요 생활하게 되죠.		th the provisions of the Local Government Code, Section 201. Provide two (2) originals



Roy Q. Hexti. President

Grapic Cantu Vice President Secretary/Tressure

FACSIMILE

DATE:

7/11/2005

Repa

Octavio A. Garza, P.E.

PAGE(S):

1 OF 1

Company:

City of San Antonio

Ac diress:

8220 Lindburgh Ldg. Bldg. 1106

San Antonio, Texas 782

Pt:ne:

(210) 394-6004

Fa c

(210) 532-2859

PHOJECT:

Asphalt Recycling and Overlay - 2005

RFP:

2(105-01

Recuested By:

San Antonio Constructors, Ltd.

Justification:

The following is the cost to install striping on the following locations as requested:

1.) Wurzbach - Evers to Newcome 2.) N. Ellison - Potranco to Military Dr.

3.) Harry Wurzbach - Rittiman to Austin Hwy.

ITEM	DESRIPTION	UNIT	QUANTITY	UNI	PRICE	E)	CHENSION
	FIELD ALTERATION						
535.01 A		L.F.	8,600.00	\$	1.65	\$	14,190.00
	(4" Wide Yellow Line)						
535.02 B	Hot Applied Thermoplastic Pavement Marking	L.F.	13,000.00	\$	1.65	\$	21,450.00
	(4" Wide White Line)	T					
535.06 ₣ Hot Applied Thermo	Hot Applied Thermoplastic Pavement Marking	L.F.	500.00	\$	8.00	\$	4,000.00
	(16" Wide White Line)	1					
535.07 (Hot Applied Thermo	Hot Applied Thermoplastic Pavement Marking	L.F.	150.00	\$	10.00	\$	1,500.00
	(24" Wide White Line)						
	TOTAL COST OF FIELD ALTERATION		l			\$	11,140.00

Additional Working Days:

10

Submitted By: Eddie L. Fryar

Superintendent

C.C

File